# SOME YANG-WANG-REN TYPE INEQUALITIES

#### YONGHUI REN, HONGLIANG ZUO AND XINYU NIU

(Communicated by Y. Seo)

Abstract. In this paper, we shall present some weighted power mean inequalities: Let  $a \sharp_{p,v} b = ((1-v)a^p + vb^p)^{\frac{1}{p}}$ . If  $p \in [\frac{1}{2}, 1]$ ,  $0 < v \leq \tau < 1$  and  $m \in \mathbb{N}^+$ , then we have

$$\frac{(a\sharp_{p,\nu}b)^m - (a\sharp_{\nu}b)^m}{(a\sharp_{p,\tau}b)^m - (a\sharp_{\tau}b)^m} \ge \frac{\nu(1-\nu)}{\tau(1-\tau)}$$

and

$$\frac{(a\sharp_{p,\nu}b)^m - (a!_{\nu}b)^m}{(a\sharp_{p,\tau}b)^m - (a!_{\tau}b)^m} \ge \frac{\nu(1-\nu)}{\tau(1-\tau)}$$

for  $0 < b \le a$ ; and the inequalities are reversed for  $b \ge a > 0$ . As applications, we obtain some inequalities for operator and determinant.

### 1. Introduction

Let  $(\mathbb{H}, \langle \cdot, \cdot \rangle)$  be a complex Hilbert space and let  $\mathbb{B}(\mathbb{H})$  denote the algebra of all bounded linear operators acting on  $\mathbb{H}$ . A self-adjoint operator A is said to be positive if  $\langle Ax, x \rangle \ge 0$  for all  $x \in \mathbb{H}$ , while it is said to be strictly positive if A is positive and invertible, denoted by  $A \ge 0$  and A > 0 respectively.  $A - B \ge 0$  means  $A \ge B$ . Moreover, let  $M_n(\mathbb{C})$  be the space of  $n \times n$  complex matrices and  $M_n^{++}(\mathbb{C})$  be the set of positive definite matrices in  $M_n(\mathbb{C})$ . In addition,  $s(A) = (s_1(A), \dots, s_n(A))$  denotes the singular values of  $A \in M_n(\mathbb{C})$ , that is, the eigenvalues of the positive semi-definite matrix  $|A| = (A^*A)^{\frac{1}{2}}$ , arranged in non-increasing order.

In this paper, we define *v*-weighted arithmetic-geometric-harmonic means (AM-GM-HM) by

$$a\nabla_{v}b = (1-v)a + vb, \ a\sharp_{v}b = a^{1-v}b^{v} \text{ and } a!_{v}b = ((1-v)a^{-1} + vb^{-1})^{-1}$$

for a, b > 0 and  $v \in [0, 1]$ . The corresponding v-weighted operator AM-GM-HM are

$$A\nabla_{\nu}B = (1-\nu)A + \nu B, \ A \sharp_{\nu}B = A^{\frac{1}{2}}(A^{-\frac{1}{2}}BA^{-\frac{1}{2}})^{\nu}A^{\frac{1}{2}} \text{ and } A!_{\nu}B = \left((1-\nu)A^{-1} + \nu B^{-1}\right)^{-1}$$

© CENN, Zagreb Paper JMI-19-18

Mathematics subject classification (2020): 15A45, 15A60, 47A30.

Keywords and phrases: Weighted power mean, AM-GM-HM, determinant.

for A, B > 0 and  $v \in [0, 1]$ , respectively. A more generalized *v*-weighted mean is the weighted power mean, defined as

$$a\sharp_{p,\nu}b = \left((1-\nu)a^p + \nu b^p\right)^{\frac{1}{p}}$$

for a, b > 0,  $p \neq 0$  and  $v \in [0, 1]$ . As usual, we define the weighted operator power mean as follows: if A, B > 0,  $v \in [0, 1]$  and  $p \neq 0$ , then

$$A\sharp_{p,\nu}B = A^{\frac{1}{2}} \left( (1-\nu)I + \nu (A^{-\frac{1}{2}}BA^{-\frac{1}{2}})^p \right)^{\frac{1}{p}} A^{\frac{1}{2}}.$$

The famous Young's inequality reads

$$a^{1-v}b^v \leq (1-v)a + vb,$$
 (1.1)

where  $a, b \ge 0$ , and  $v \in [0, 1]$ . Hirzallah, Kittaneh and Manasrah [3, 7, 8] showed some refinements and reverses of (1.1) in the following forms

$$r_0(\sqrt{a} - \sqrt{b})^2 \le ((1 - v)a + vb) - a^{1 - v}b^v \le R_0(\sqrt{a} - \sqrt{b})^2$$
(1.2)

and

$$r_0^2(a-b)^2 \leqslant \left((1-v)a+vb\right)^2 - (a^{1-v}b^v)^2 \leqslant R_0^2(a-b)^2,\tag{1.3}$$

where  $r_0 = \min\{v, 1-v\}$ ,  $R_0 = \max\{v, 1-v\}$  and  $v \in [0, 1]$ . Choi [2] gave the generalizations of (1.2) and (1.3) as

$$r_0^m \left( (a+b)^m - 2^m (ab)^{\frac{m}{2}} \right) \leqslant \left( (1-v)a + vb \right)^m - \left( a^{1-v}b^v \right)^m \\ \leqslant R_0^m \left( (a+b)^m - 2^m (ab)^{\frac{m}{2}} \right), \tag{1.4}$$

where  $a, b \ge 0$ ,  $m \in \mathbb{N}^+$ ,  $r_0 = \min\{v, 1-v\}$ ,  $R_0 = \max\{v, 1-v\}$  and  $v \in [0, 1]$ . In 2015, Alzer, Fonseca and Kovačec [1] presented the following AM-GM inequalities

$$\left(\frac{\nu}{\tau}\right)^m \leqslant \frac{(a\nabla_{\nu}b)^m - (a\sharp_{\nu}b)^m}{(a\nabla_{\tau}b)^m - (a\sharp_{\tau}b)^m} \leqslant \left(\frac{1-\nu}{1-\tau}\right)^m \tag{1.5}$$

for  $a, b \ge 0$ ,  $0 < v \le \tau < 1$  and  $m \ge 1$ . In fact, we can obtain (1.4) by (1.5) when  $v = \frac{1}{2}$  and  $\tau = \frac{1}{2}$ , respectively. Later, Liao and Wu [9] replicated (1.5) as

$$\left(\frac{\nu}{\tau}\right)^m \leqslant \frac{(a\nabla_{\nu}b)^m - (a!_{\nu}b)^m}{(a\nabla_{\tau}b)^m - (a!_{\tau}b)^m} \leqslant \left(\frac{1-\nu}{1-\tau}\right)^m \tag{1.6}$$

for  $a, b \ge 0$ ,  $0 < v \le \tau < 1$  and  $m \ge 1$ . The following remark explain (1.6) is a new Alzer-Fonseca-Kovačec's type inequalities:

REMARK 1.1. When  $a = 1, b = 2, v = \frac{1}{4}, \tau = \frac{2}{3}, m = 1$ , then

$$\frac{(a\nabla_{\nu}b)^{m} - (a\sharp_{\nu}b)^{m}}{(a\nabla_{\tau}b)^{m} - (a\sharp_{\tau}b)^{m}} \approx 0.767 > 0.643 \approx \frac{(a\nabla_{\nu}b)^{m} - (a!_{\nu}b)^{m}}{(a\nabla_{\tau}b)^{m} - (a!_{\tau}b)^{m}}.$$

When 
$$a = 2, b = 1, v = \frac{1}{4}, \tau = \frac{2}{3}, m = 1$$
, then

$$\frac{(a\nabla_{v}b)^{m} - (a\sharp_{v}b)^{m}}{(a\nabla_{\tau}b)^{m} - (a\sharp_{\tau}b)^{m}} \approx 0.929 < 1.125 = \frac{(a\nabla_{v}b)^{m} - (a!_{v}b)^{m}}{(a\nabla_{\tau}b)^{m} - (a!_{\tau}b)^{m}}.$$

In 2023, Yang and Wang [15] improved (1.5) under some conditions: Let a, b > 0,  $0 < v \le \tau < 1$  and  $m \in \mathbb{N}^+$ . Then

$$\frac{(a\nabla_{\nu}b)^m - (a\sharp_{\nu}b)^m}{(a\nabla_{\tau}b)^m - (a\sharp_{\tau}b)^m} \ge \frac{\nu(1-\nu)}{\tau(1-\tau)}$$
(1.7)

for  $b \leq a$ ; and the inequalities is reversed for  $b \geq a$ .

Very recently, Ren [10] improved (1.6) under the same conditions as in (1.7), then

$$\frac{(a\nabla_{\nu}b)^m - (a!_{\nu}b)^m}{(a\nabla_{\tau}b)^m - (a!_{\tau}b)^m} \ge \frac{\nu(1-\nu)}{\tau(1-\tau)}$$
(1.8)

for  $b \leq a$ ; and the inequalities is reversed for  $b \geq a$ .

We refer the readers to [5, 6, 11, 12, 13, 14] and references therein for some other results about Alzer-Fonseca-Kovačec's type inequalities.

In this paper, we shall present some weighted power mean inequalities, which extend the inequalities (1.7) and (1.8). As applications, we obtain some inequalities for operator and determinant.

## 2. Main results

We firstly show a generalization of (1.7) using the following lemma.

LEMMA 2.1. Let a, b > 0,  $p \in [\frac{1}{2}, 1]$  and  $0 < v \le \tau < 1$ . (i) If  $b \le a$ , then

$$\frac{a\sharp_{p,\nu}b - a\sharp_{\nu}b}{a\sharp_{p,\tau}b - a\sharp_{\tau}b} \ge \frac{\nu\left(1 - \nu\right)}{\tau\left(1 - \tau\right)}.$$
(2.1)

(ii) If  $b \ge a$ , then

$$\frac{a\sharp_{p,v}b - a\sharp_{v}b}{a\sharp_{p,\tau}b - a\sharp_{\tau}b} \leqslant \frac{v\left(1 - v\right)}{\tau\left(1 - \tau\right)}.$$
(2.2)

*Proof.* To prove our results, we set  $f(v) = \frac{(1-v+vx^p)^{\frac{1}{p}} - x^v}{v(1-v)}$ . Then  $f'(v) = \frac{1}{(v-v^2)^2}g(x)$ , where

$$g(x) = (1 - v + vx^p)^{\frac{1}{p} - 1} \left( \frac{1}{p} (v - v^2) (x^p - 1) - (1 - 2v) (1 - v + vx^p) \right) + (1 - 2v) x^v - (v - v^2) x^v \ln x.$$

So we have

$$g'(x) = \left(\frac{1}{p} - 1\right) (1 - v + vx^p)^{\frac{1}{p} - 2} v p x^{p-1} \left(\frac{1}{p} \left(v - v^2\right) (x^p - 1) - (1 - 2v) (1 - v + vx^p)\right)$$
$$+ (1 - v + vx^p)^{\frac{1}{p} - 1} \left(\frac{1}{p} \left(v - v^2\right) p x^{p-1} - (1 - 2v) v p x^{p-1}\right) + v (1 - 2v) x^{v-1}$$
$$+ (v^2 - v) v x^{v-1} \ln x + (v^2 - v) x^{v-1}.$$

Thus,

$$g''(x) = v^{2}(v-1)^{2}x^{v-2}\ln x + v^{2}(1-v+vx^{p})^{\frac{1}{p}-3}x^{p-2}\frac{1}{p}(1-p)(1-v)^{2}(x^{p}-1)(2p-1).$$

When  $0 < x \leq 1$ , then  $g''(x) \leq 0 \Rightarrow g'(x) \geq g'(1) = 0$ , so  $g(x) \leq g(1) = 0$ , that is  $f'(v) \leq 0$ , which means  $f(v) \geq f(\tau)$ . Therefore,

$$\frac{(1-\nu+\nu x^p)^{\frac{1}{p}}-x^{\nu}}{\nu(1-\nu)} \ge \frac{(1-\tau+\tau x^p)^{\frac{1}{p}}-x^{\tau}}{\tau(1-\tau)};$$

When  $x \ge 1$ , then  $g''(x) \ge 0 \Rightarrow g'(x) \ge g'(1) = 0$ , so  $g(x) \ge g(1) = 0$ , that is  $f'(v) \ge 0$ , which means  $f(v) \le f(\tau)$ . Therefore,

$$\frac{(1-v+vx^p)^{\frac{1}{p}}-x^v}{v(1-v)} \leqslant \frac{(1-\tau+\tau x^p)^{\frac{1}{p}}-x^\tau}{\tau(1-\tau)}.$$

Taking  $x = \frac{b}{a}$ , we can get the desired inequalities.  $\Box$ 

A generalization of (1.7) is as follows.

THEOREM 2.2. Let a, b > 0,  $p \in [\frac{1}{2}, 1]$ ,  $0 < v \leq \tau < 1$  and  $m \in \mathbb{N}^+$ . (i) If  $b \leq a$ , then

$$\frac{(a\sharp_{p,\nu}b)^m - (a\sharp_{\nu}b)^m}{(a\sharp_{p,\tau}b)^m - (a\sharp_{\tau}b)^m} \ge \frac{\nu(1-\nu)}{\tau(1-\tau)}.$$
(2.3)

(ii) If  $b \ge a$ , then

$$\frac{\left(a\sharp_{p,\nu}b\right)^{m}-\left(a\sharp_{\nu}b\right)^{m}}{\left(a\sharp_{p,\tau}b\right)^{m}-\left(a\sharp_{\tau}b\right)^{m}}\leqslant\frac{\nu(1-\nu)}{\tau(1-\tau)}.$$
(2.4)

Proof. By computations, we have

$$(1 - v + vx^p)^{\frac{m}{p}} - x^{mv} = \left((1 - v + vx^p)^{\frac{1}{p}} - x^v\right) \left(\sum_{i=1}^m (1 - v + vx^p)^{\frac{m-i}{p}} x^{(i-1)v}\right).$$

Let

$$f(v) = \sum_{i=1}^{m} (1 - v + vx^p)^{\frac{m-i}{p}} x^{(i-1)v}.$$

Then

$$f'(v) = \frac{(x^p - 1)}{p} \left( \sum_{i=1}^m (m - i) (1 - v + vx^p)^{\frac{m - i}{p} - 1} x^{(i-1)v} \right) + \left( \sum_{i=1}^m (i - 1) (1 - v + vx^p)^{\frac{m - i}{p}} x^{(i-1)v} \right) \ln x.$$

(i) When  $0 < x \le 1$ , we have  $\frac{(x^p-1)}{p} \le 0$  and  $\ln x \le 0$ , so  $f'(v) \le 0$ , which means  $\frac{f(v)}{f(\tau)} \ge 1$ . Therefore,

$$\frac{(1-v+vx^p)^{\frac{m}{p}}-x^{mv}}{(1-\tau+\tau x^p)^{\frac{m}{p}}-x^{m\tau}} = \frac{\left((1-v+vx^p)^{\frac{1}{p}}-x^v\right)f(v)}{\left((1-\tau+\tau x^p)^{\frac{1}{p}}-x^{\tau}\right)f(\tau)}$$
$$\geqslant \frac{(1-v+vx^p)^{\frac{1}{p}}-x^v}{(1-\tau+\tau x^p)^{\frac{1}{p}}-x^\tau}$$
$$\geqslant \frac{v(1-v)}{\tau(1-\tau)} \text{ (by (2.1))}.$$

(ii) When  $x \ge 1$ , we have  $\frac{(x^p-1)}{p} \ge 0$  and  $\ln x \ge 0$ , so  $f'(v) \ge 0$ , which means  $\frac{f(v)}{f(\tau)} \le 1$ . Therefore,

$$\frac{(1-v+vx^p)^{\frac{m}{p}}-x^{mv}}{(1-\tau+\tau x^p)^{\frac{m}{p}}-x^{m\tau}} = \frac{\left((1-v+vx^p)^{\frac{1}{p}}-x^v\right)f(v)}{\left((1-\tau+\tau x^p)^{\frac{1}{p}}-x^{\tau}\right)f(\tau)}$$
$$\leqslant \frac{(1-v+vx^p)^{\frac{1}{p}}-x^{\tau}}{(1-\tau+\tau x^p)^{\frac{1}{p}}-x^{\tau}}$$
$$\leqslant \frac{v(1-v)}{\tau(1-\tau)} \text{ (by (2.2)).}$$

Taking  $x = \frac{b}{a}$ , we can get the desired results.  $\Box$ 

Following the ideas as above, we now show a generalization of (1.8).

LEMMA 2.3. Let a, b > 0,  $p \in [\frac{1}{2}, 1]$  and  $0 < v \le \tau < 1$ . (i) If  $b \le a$ , then

$$\frac{a\sharp_{p,\nu}b - a!_{\nu}b}{a\sharp_{p,\tau}b - a!_{\tau}b} \ge \frac{\nu(1-\nu)}{\tau(1-\tau)}.$$
(2.5)

(ii) If  $b \ge a$ , then

$$\frac{a\sharp_{p,\nu}b - a!_{\nu}b}{a\sharp_{p,\tau}b - a!_{\tau}b} \leqslant \frac{\nu(1-\nu)}{\tau(1-\tau)}.$$
(2.6)

*Proof.* Let  $f(v) = \frac{(1-v+vx^p)^{\frac{1}{p}} - (1-v+vx^{-1})^{-1}}{v(1-v)}$ . Then we have  $f'(v) = \frac{1}{(v-v^2)^2}g(x)$ ,

where

$$g(x) = v (1-v) \left( \frac{1}{p} (1-v+vx^p)^{\frac{1}{p}-1} (x^p-1) + (1-v+vx^{-1})^{-2} (x^{-1}-1) \right) - (1-2v) \left( (1-v+vx^p)^{\frac{1}{p}} - (1-v+vx^{-1})^{-1} \right).$$

So we have

$$g'(x) = \frac{v^2}{p} x^{p-1} (1 - v + vx^p)^{\frac{1}{p}-2} ((1 - v) (1 - p) (x^p - 1) + p (1 - v + vx^p)) + v^2 x^{-2} (1 - v + vx^{-1})^{-3} (2 (1 - v) (x^{-1} - 1) - (1 - v + vx^{-1})).$$

Thus,

$$g''(x) = (1 - v + vx^{p})^{\frac{1}{p} - 3} \frac{v^{2}}{p} x^{p-2} (2p-1) (x^{p}-1) (1-p) (1-v)^{2} + 6(1 - v + vx^{-1})^{-4} v^{2} x^{-4} (x-1) (1-v)^{2}.$$

When  $0 < x \leq 1$ , then  $g''(x) \leq 0 \Rightarrow g'(x) \geq g'(1) = 0$ , so  $g(x) \leq g(1) = 0$ , that is  $f'(v) \leq 0$ , which means  $f(v) \geq f(\tau)$ . Therefore,

$$\frac{(1-\nu+\nu x^p)^{\frac{1}{p}}-\left(1-\nu+\nu x^{-1}\right)^{-1}}{\nu\left(1-\nu\right)} \ge \frac{(1-\tau+\tau x^p)^{\frac{1}{p}}-\left(1-\tau+\tau x^{-1}\right)^{-1}}{\tau\left(1-\tau\right)}.$$

When  $x \ge 1$ , then  $g''(x) \ge 0 \Rightarrow g'(x) \ge g'(1) = 0$ , so  $g(x) \ge g(1) = 0$ , that is  $f'(v) \ge 0$ , which means  $f(v) \le f(\tau)$ . Therefore,

$$\frac{(1-v+vx^p)^{\frac{1}{p}}-(1-v+vx^{-1})^{-1}}{v(1-v)} \leqslant \frac{(1-\tau+\tau x^p)^{\frac{1}{p}}-(1-\tau+\tau x^{-1})^{-1}}{\tau(1-\tau)}.$$

Taking  $x = \frac{b}{a}$ , we can get the desired inequalities.  $\Box$ 

THEOREM 2.4. Let a, b > 0,  $p \in [\frac{1}{2}, 1]$ ,  $0 < v \le \tau < 1$  and  $m \in \mathbb{N}^+$ . (i) If  $b \le a$ , then

$$\frac{(a\sharp_{p,\nu}b)^m - (a!_{\nu}b)^m}{(a\sharp_{p,\tau}b)^m - (a!_{\tau}b)^m} \ge \frac{\nu(1-\nu)}{\tau(1-\tau)}.$$
(2.7)

(ii) If  $b \ge a$ , then

$$\frac{(a\sharp_{p,v}b)^m - (a!_vb)^m}{(a\sharp_{p,\tau}b)^m - (a!_\tau b)^m} \leqslant \frac{v(1-v)}{\tau(1-\tau)}.$$
(2.8)

Proof. By computations, we have

$$(1 - v + vx^{p})^{\frac{m}{p}} - (1 - v + vx^{-1})^{-m}$$
  
=  $\left((1 - v + vx^{p})^{\frac{1}{p}} - (1 - v + vx^{-1})^{-1}\right) \left(\sum_{i=1}^{m} (1 - v + vx^{p})^{\frac{m-i}{p}} (1 - v + vx^{-1})^{-(i-1)}\right).$ 

Let

$$f(v) = \sum_{i=1}^{m} (1 - v + vx^{p})^{\frac{m-i}{p}} (1 - v + vx^{-1})^{-(i-1)}$$

Then

$$f'(v) = \frac{(x^p - 1)}{p} \left( \sum_{i=1}^m (m - i) (1 - v + vx^p)^{\frac{m-i}{p} - 1} (1 - v + vx^{-1})^{-(i-1)} \right) - (x^{-1} - 1) \left( \sum_{i=1}^m (i - 1) (1 - v + vx^p)^{\frac{m-i}{p}} (1 - v + vx^{-1})^{-(i-1) - 1} \right).$$

(i) When  $0 < x \le 1$ , we have  $\frac{(x^p-1)}{p} \le 0$  and  $(x^{-1}-1) \ge 0$ , so  $f'(v) \le 0$ , which means  $\frac{f(v)}{f(\tau)} \ge 1$ . Therefore,

$$\frac{(1-\nu+\nu x^p)^{\frac{m}{p}}-(1-\nu+\nu x^{-1})^{-m}}{(1-\tau+\tau x^p)^{\frac{m}{p}}-(1-\tau+\tau x^{-1})^{-m}} = \frac{\left((1-\nu+\nu x^p)^{\frac{1}{p}}-(1-\nu+\nu x^{-1})^{-1}\right)f(\nu)}{\left((1-\tau+\tau x^p)^{\frac{1}{p}}-(1-\tau+\tau x^{-1})^{-1}\right)f(\tau)}$$
$$\geq \frac{(1-\nu+\nu x^p)^{\frac{1}{p}}-(1-\nu+\nu x^{-1})^{-1}}{(1-\tau+\tau x^p)^{\frac{1}{p}}-(1-\tau+\tau x^{-1})^{-1}}$$
$$\geq \frac{\nu(1-\nu)}{\tau(1-\tau)} \quad (\text{by } (2.5)).$$

(ii) When  $x \ge 1$ , we have  $\frac{(x^p-1)}{p} \ge 0$  and  $(x^{-1}-1) \le 0$ , so  $f'(v) \ge 0$ , which means  $\frac{f(v)}{f(\tau)} \le 1$ . Therefore,

$$\frac{(1-\nu+\nu x^p)^{\frac{m}{p}}-(1-\nu+\nu x^{-1})^{-m}}{(1-\tau+\tau x^p)^{\frac{m}{p}}-(1-\tau+\tau x^{-1})^{-m}} = \frac{\left((1-\nu+\nu x^p)^{\frac{1}{p}}-(1-\nu+\nu x^{-1})^{-1}\right)f(\nu)}{\left((1-\tau+\tau x^p)^{\frac{1}{p}}-(1-\tau+\tau x^{-1})^{-1}\right)f(\tau)}$$
$$\leqslant \frac{(1-\nu+\nu x^p)^{\frac{1}{p}}-(1-\nu+\nu x^{-1})^{-1}}{(1-\tau+\tau x^p)^{\frac{1}{p}}-(1-\tau+\tau x^{-1})^{-1}}$$
$$\leqslant \frac{\nu(1-\nu)}{\tau(1-\tau)} \text{ (by (2.6)).}$$

Taking  $x = \frac{b}{a}$ , we can get the desired results directly.  $\Box$ 

REMARK 2.5. It should be reminded readers that replacing  $v, \tau, a, b$  with  $1 - \tau, 1 - v, b, a$ , respectively, in the first inequalities of Lemma 2.1, Theorem 2.2, Lemma 2.3 and Theorem 2.4, then we can also obtained the second inequalities of them.

REMARK 2.6. When p = 1, we can get inequalities (1.7) and (1.8) by Theorems 2.2 and 2.4, respectively.

Next, we give some operator inequalities as promised.

THEOREM 2.7. Let  $A, B \in \mathbb{B}(\mathbb{H})$  be strictly positive,  $0 < v \leq \tau < 1$  and  $p \in [\frac{1}{2}, 1]$ . (i) If  $B \leq A$ , then

$$A\sharp_{p,\nu}B - A\sharp_{\nu}B \geqslant \frac{\nu(1-\nu)}{\tau(1-\tau)} \left(A\sharp_{p,\tau}B - A\sharp_{\tau}B\right)$$
(2.9)

and

$$A \sharp_{p,\nu} B - A!_{\nu} B \ge \frac{\nu (1-\nu)}{\tau (1-\tau)} \left( A \sharp_{p,\tau} B - A!_{\tau} B \right).$$
(2.10)

(ii) If  $B \ge A$ , then

$$A\sharp_{p,\nu}B - A\sharp_{\nu}B \leqslant \frac{\nu(1-\nu)}{\tau(1-\tau)} \left(A\sharp_{p,\tau}B - A\sharp_{\tau}B\right)$$
(2.11)

and

$$A\sharp_{p,\nu}B - A!_{\nu}B \leqslant \frac{\nu(1-\nu)}{\tau(1-\tau)} \left(A\sharp_{p,\tau}B - A!_{\tau}B\right).$$

$$(2.12)$$

*Proof.* By a standard functional calculus in the inequality (2.1) and (2.5) with a = I and  $b = A^{-\frac{1}{2}}BA^{-\frac{1}{2}}$ , respectively, we obtain

$$\left((1-\nu)I + \nu \left(A^{-\frac{1}{2}}BA^{-\frac{1}{2}}\right)^{p}\right)^{\frac{1}{p}} - \left(A^{-\frac{1}{2}}BA^{-\frac{1}{2}}\right)^{\nu}$$

$$\geq \frac{\nu(1-\nu)}{\tau(1-\tau)} \left(\left((1-\tau)I + \tau \left(A^{-\frac{1}{2}}BA^{-\frac{1}{2}}\right)^{p}\right)^{\frac{1}{p}} - \left(A^{-\frac{1}{2}}BA^{-\frac{1}{2}}\right)^{\tau}\right)$$
(2.13)

and

$$\left( (1-v)I + v \left(A^{-\frac{1}{2}}BA^{-\frac{1}{2}}\right)^p \right)^{\frac{1}{p}} - \left( (1-v)I + v \left(A^{-\frac{1}{2}}BA^{-\frac{1}{2}}\right)^{-1} \right)^{-1}$$

$$\geq \frac{v(1-v)}{\tau(1-\tau)} \left( \left( (1-\tau)I + \tau \left(A^{-\frac{1}{2}}BA^{-\frac{1}{2}}\right)^p \right)^{\frac{1}{p}} - \left( (1-\tau)I + \tau \left(A^{-\frac{1}{2}}BA^{-\frac{1}{2}}\right)^{-1} \right)^{-1} \right).$$

$$(2.14)$$

Multiplying  $A^{\frac{1}{2}}$  to both sides of (2.13) and (2.14), we can get (2.9) and (2.10), respectively.

Similarly, we can obtain (2.11) and (2.12) by (2.2) and (2.6), so we omit it.  $\Box$ 

At the end of this paper, we give some determinant inequalities using the following lemma.

LEMMA 2.8. [4] Let  $a = [a_i]$ ,  $b = [b_i]$ ,  $i = 1, 2, \dots, n$  be such that  $a_i, b_i$  positive real numbers. Then

$$\left(\prod_{i=1}^n a_i\right)^{\frac{1}{n}} + \left(\prod_{i=1}^n b_i\right)^{\frac{1}{n}} \leqslant \left(\prod_{i=1}^n (a_i + b_i)\right)^{\frac{1}{n}}.$$

THEOREM 2.9. Let  $A, B \in M_n^{++}(\mathbb{C})$  be such that  $A \ge B$ . If  $0 < v \le \tau < 1$ ,  $p \in [\frac{1}{2}, 1]$  and  $m \in \mathbb{N}^+$ , then we have

$$\det\left(A\sharp_{p,\nu}B\right)^{\frac{m}{n}} - \det\left(A\sharp_{\nu}B\right)^{\frac{m}{n}} \ge \frac{\nu\left(1-\nu\right)}{\tau\left(1-\tau\right)} \det\left(A\sharp_{p,\tau}B - A\sharp_{\tau}B\right)^{\frac{m}{n}} \tag{2.15}$$

and

$$\det \left(A\sharp_{p,\nu}B\right)^{\frac{m}{n}} - \det \left(A!_{\nu}B\right)^{m} \ge \frac{\nu\left(1-\nu\right)}{\tau\left(1-\tau\right)} \det \left(A\sharp_{p,\tau}B - A!_{\tau}B\right)^{\frac{m}{n}}.$$
(2.16)

*Proof.* We denote the positive definite matrix  $T = A^{-\frac{1}{2}}BA^{-\frac{1}{2}}$ . By the inequality (2.3), we have

$$\frac{(1\sharp_{p,\nu}s_i(T))^m - (1\sharp_{\nu}s_i(T))^m}{(1\sharp_{p,\tau}s_i(T))^m - (1\sharp_{\tau}s_i(T))^m} \ge \frac{\nu(1-\nu)}{\tau(1-\tau)}, \quad i = 1, 2, \cdots, n.$$
(2.17)

Since the determinant of a positive definite matrix is product of its singular values. Thus,

$$\det (I\sharp_{p,\nu}T)^{\frac{m}{n}} = \left(\prod_{i=1}^{n} 1\sharp_{p,\nu}s_{i}(T)\right)^{\frac{m}{n}} \\ \ge \left(\prod_{i=1}^{n} \left[\frac{\nu(1-\nu)}{\tau(1-\tau)}\left((1\sharp_{p,\tau}s_{i}(T))^{m} - (1\sharp_{\tau}s_{i}(T))^{m}\right) + (1\sharp_{\nu}s_{i}(T))^{m}\right]\right)^{\frac{1}{n}} \quad (by \ 2.17) \\ \ge \prod_{i=1}^{n} \left[\frac{\nu(1-\nu)}{\tau(1-\tau)}\left((1\sharp_{p,\tau}s_{i}(T))^{m} - (1\sharp_{\tau}s_{i}(T))^{m}\right)\right]^{\frac{1}{n}} + \prod_{i=1}^{n}(1\sharp_{\nu}s_{i}(T))^{\frac{m}{n}} \quad (by \ Lemma \ 2.8) \\ \ge \frac{\nu(1-\nu)}{\tau(1-\tau)}\prod_{i=1}^{n}(1\sharp_{p,\tau}s_{i}(T) - 1\sharp_{\tau}s_{i}(T))^{\frac{m}{n}} + \prod_{i=1}^{n}(1\sharp_{\nu}s_{i}(T))^{\frac{m}{n}} \\ = \frac{\nu(1-\nu)}{\tau(1-\tau)}\det(I\sharp_{p,\tau}T - I\sharp_{\tau}T)^{\frac{m}{n}} + \det(I\sharp_{\nu}T)^{\frac{m}{n}},$$

where the last inequality is by the fact  $a^m - b^m \ge (a-b)^m$  for  $a \ge b > 0$  and  $m \in \mathbb{N}^+$ . Then multiply both sides of the inequalities above by  $\left(\det A^{\frac{1}{2}}\right)^{\frac{m}{n}}$ , we complete the proof of (2.15).

Using the same method, we can get (2.16) by (2.7).

Acknowledgement. The authors wish to express their sincere thanks to the referee for his/her detailed and helpful suggestions for revising the manuscript. In particular, the referee pointed out Remark 2.5.

*Funding*. This work is supported by the Zhoukou Normal University high-level talents start-up funds research project (ZKNUC2023009), and the Natural Science Foundation of Henan (252300421797).

#### REFERENCES

- H. ALZER, C. M. DA FONSECA, A. KOVAČEC, Young-type inequalities and their matrix analogues, Linear Multilinear Algebra, 63 (2015), 622–635.
- [2] D. CHOI, A generalization of Young-type inequalities, Math. Inequal. Appl., 21 (2018), 99-106.
- [3] O. HIRZALLAH, F. KITTANEH, Matrix Young inequalities for the Hilbert-Schmidt norm, Linear Algebra Appl., 308 (2000), 77–84.
- [4] R. A. HORN, C. R. JOHNSON, Matrix analysis, Cambridge University Press, (2012).
- [5] M. IGHACHANE, M. AKKOUCHI, MOHAMED E. BENABDI, Further refinements of Alzer-Fonseca-Kovačec's inequalities and applications, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat., RACSAM 115 (2021), Paper No. 152, 14 pp.
- [6] M. IGHACHANE, Multiple-term refinements of Alzer-Fonseca-Kovačec inequalities, Rocky Mountain J. Math., 52 (2022), 2053–2070.
- [7] F. KITTANEH, Y. MANASRAH, Improved Young and Heinz inequalities for matrices, J. Math. Anal. Appl., 361 (2010), 262–269.
- [8] F. KITTANEH, Y. MANASRAH, Reverse Young and Heinz inequalities for matrices, Linear Multilinear Algebra, 59 (2011), 1031–1037.
- [9] W. LIAO, J. WU, Matrix inequalities for the difference between arithmetic mean and harmonic mean, Ann. Funct. Anal., 6 (2015), 191–202.
- [10] Y. REN, Generalizations of AM-GM-HM means inequalities, AIMS Math., 8 (2023), 29925–29931.
- [11] Y. REN, Some results of Young-type inequalities, Rev. R. Acad. Cien C. Exactas Fis. Nat. Ser. A Mat. RACSAM 114 (2020), no. 3, Paper No. 143, 10 pp.
- [12] M. SABABHEH, Convexity and matrix means, Linear Algebra Appl., 506 (2016), 588-602.
- [13] M. SABABHEH, On the matrix harmonic mean, J. Math. Inequal., 12 (2018), 901–920.

- [14] Z. TAKI, M. IGHACHANE, D. HUY, D. VAN, Further improvement of Alzer-Fonseca-Kovačec's type inequalities via weak sub-majorization with applications, Adv. Oper. Theory, 9 (2024), Paper No. 6, 26 pp.
- [15] C. YANG, Z. WANG, Some new improvements of Young's inequalities, J. Math. Inequal., 17 (2023), 205–217.

(Received September 16, 2024)

Yonghui Ren School of Mathematics and Statistics Zhoukou Normal University Zhoukou 466001, China e-mail: yonghuiren1992@163.com

Hongliang Zuo College of Mathematics and Information Science Henan Normal University Xinxiang 453007, China e-mail: zuohongliang@htu.cn

Xinyu Niu College of Mathematics and Information Science Henan Normal University Xinxiang 453007, China e-mail: niuxinyu2023@163.com